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LTlme Three Hours] : | [Maxnmum Marks : 75

Note Cand:dates are required to glve their answers in their own

| words as far as practlcable Answer | any five questions

mlall. Questlon NO. 1 is compulsory.
A /  Write .s_H_ort rjo'tes on the following terms :

(@)  Impact p_rint'er B
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2./ (a)  Discuss the characteristics of cOmpuer.

Difference between computer 3{?’3' human brain.

'L"‘

/ What do you mean by generation of computer ?

A | Discuss allin brlefly

M I\-Nrite block diagram of computer with labelled.

L components.

L]

Mg | | i3
\f'*/‘/ Uﬁd/ What are the functions _of output devices ?

<5 -{_-@/Write the qiﬁerence b'etween“RAM and ROM.

/ },)ﬂ | erte dlfference between dlgltal and analog

computer

\

}ﬁ/ Wnte dlfferenc;e between Machme Ianguage and
| ngh Level Ianguage '

bl ] |

r?r"
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4003-02 Total Pages : 8

Degree (Part-1) Examination, 2022

( Vocational )
BCA
| Paper : Second |
| PPU-D-1(H)-BCA-2 |

Time : Three Hours) [ Maximum Marks : 75

Note : Candidates are required to give their answers in their own

words as far as practicable. All questions are of equal
value Answer any five questions. Question No.1 is
compulsory.
1. Choose the correct answer of the following -
(i) What is an operating system ?
(a) Collection of programs that manages
hardware resourses

(b)
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(i)  In Unix, which system call createg the ney,

process ?
Fork
Create

" New

(d) None of the above

.

([ e or FCFS ééheduling is-atype of :.J' .
(é)' Pre-emptive scheduling .
| o) A ‘Nor;-preempt'we scheduling
T ‘(._c)' Both (a) and (b)

(d) None of the above

TS

. (iv) * Which of the foilowing is/are CPU scheduling
algorithm ? ‘ | '
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(v) Which types of operating system reads and
react in terms of actual time ?

(a) Time sharing 0_3

Sb:)f_/” Real time OS

(c) Batch OS
(d) None of the above

(Vi) Which of the following atomic operation.

‘performed by semaphore.
- P&g)/ Wait, Signal
il (b) Signal, Stop_
(¢)  Wait, Stop
(d) None of the above oh >

¢

- (viiy  Add more records at the end of any database file, .

. 5
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3 . (viii) What type of ,C.ommands-aare required to perfgrm
uaridus tasksl in'DOS 7 e
| 17 @/ Internal Commands
(b) " External Command_s |
(c) F’rimary'Com-mands ‘
(d)  None of the above |
(X, The == command is u.se"d to exit frbm Fox Pro.
-(a)' DEL
) OuT | ;
@V - Quit
. (d)  None qf .:the above
‘ O st Thé defaul1t d_ate style is - ------- -
(a) * _r;?lld/y
o 2

LY l'.
Sh W
"

& s SRR U et SR
= Y. o r'rt. ':rh I*.':ﬂ;‘ r . B
by e .I-!""..-...|t B
- . 4 o
A ' & e

-
. 5, a e )
il i ) k
3 'i‘l..'*-.lj-*:- )
- " = g | = '.___ W
. ’ e X

Scanned by TapScanner



Define operating system and its types.

-'"" 3

4

L i i
Y il T L o L
I S AL T Y

i JCQ,‘

Define process® prot
Br_____E_E_';GS. Process state and Process Control
ock.

4 Compare the First Come First Serve (FCFS’)' and
Shortest Job First (SJF) CPU scheduling algorithms.

S.,  Define the following commands. -

(a)  Append -

(b) Browse ,

(c) Display .
(d) Replace
() ZAP
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EX@Ié'ih' the External and Internal Ffﬂgm?”tat'_on and 35?‘3‘ 2

compaction mechanism. .

S disk scheduling

10:  Explain the SCAN, CSCAN and FCF

algorithms.
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Degree (Part-I) Examination, 2022

Total Pages : 16|

( Vocational )
MATHEMATICS

| Paper Flrst L
[PPU—D—I—(Sub) MATH]

Time : Three Hours] [Maximum Marks : 100

~ Note : .Ca.hdidates'a‘fe_ requ.ired_to-gi\%e their answers in their own
words as far as practicable". The question's are of equal
value. Answer five q'ueStions in all. Question No. 1 IS
-compulsory BeSIdes thlS attempt at Ieast one question '

from each secnon
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& 1 4B and ¢ are non-empty sets, t-he'-.“.i
% _ (A"B)U(B-‘A)'is:l e
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(¢ SnT={l1,23]}
@ None of these

ar ARG s={1,2,3},r-:-{1,3,5} AT
K = {2,3,4,5}, @ Fr=fafaa # & @-a1 g2
2 P

G ST =g28
) Bk e 12,5 4)
h.(t?) ST ={1,2,3} !

@ o E

(i) Inthe group of non-zero rational numbers under

| thq binary . Oper_aﬁon "ok 1 given by
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(iv) If (l.(ﬁ.tﬂ’)is an abelian group under
multiplication, then identity element is : ' *

@
(b) 0 |
€ - %
d o
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v)
(a)

(b).
© |48 =|4||B]
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I |
(X} The conic x> +4xy+y =2x+2y-6-0
represents :
(a) Hyperbolé
(b)  Parabola ‘
(c)  Ellipse
(d)  Circle

NH x*+4xy+)? —2x+2y-6-0 TI;AT
S . _ T b
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(€) 45°
(d) 60"

m x-2=0 Jix—y-Z-O *m
YA BB

.-
m W
(¢) 45°
(d) 60"
Section-A | @8-

Two finite sets have m and n elements,
respectively. The total number of subsets of
first set is 56 more than the total number of
subsets of the second set. Find the values of m
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(b)

& il

Let A B and ( be sets. Then show that

AA(BUC)=(AnB)V(ANC)
——— T L
RERu s A~ (BUC)=(ANnB)U(4NC)
Define group and show that\ nth root of unity
forms a group.
wémmmm&Mmt
nd G TYE T &)

State and prove Lagrange's theorem. :

& mg # fofae R R S
Section-B / §'8-9

Show that every square matrix can uniquely be
expressed as a sum of symmetric and skew-
symmetric matrix.

mﬁmwﬂm@m w7
mmmmmgmaﬁma
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e o 80 RS PR
! \"FIW 7 = 40x + 30y
Waﬂ%emfﬁ x+y<s12
2x + y <16
' x=20,y20

Section-C | 75~

,9‘)/ - Prove that the subsequence of a convergent

sequence IS also convergent
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iy  (1-+3)"

() S f)w i L i
Gy  (1-+3i)
(b) Prove. the following :
(1) sin 3x = 3sin x — 4 sin’
(ii)" ' v'cosh 2x 2(cosh x)
(i): L isidin e - 3smi: 4sin’ x

(i) cosh 2x 2(cosh x)

8 "_'(a.)q .' lf sm(a+1,6) x-l-zy ,' then prove that
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Total Pages ':.8

)

Degree (Part-1) Examination, 2022
=B Ve eniibnal)
ENGLISH
[ PPU-D-I{(Sub)-ENG |

(The Golden Treasury, The Literary
‘Heritage, The Merchant of Vemce)

' Time : Three Hours]

~ [Maximum _Marks : 100

Note : 'Céhd‘idates are required to give their answers in their own
words as far as practicable. The figure in the margin

indipate'fﬁ|| marks. Attempt all questions :
J/( Explain fhé following lines With reference to the content :
s £ _ [8x3=24]
Jz‘)’ A guest | answered worthy to be here |
Lcwe said, You shall be he. |

I the unkmd, ungrateful‘? Ah my dear |
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OR
‘No motion has she nQW, ﬁo force;
She neither hears nor sees;
| Rolle_.-d round in earth's diurnal course,
With rocks, and stones, énd trees.
~ They all become. exactly the same, not worse,
not -bet_ter. I give any Ehglishman 'tﬁo years, .

Y be he Turton or Burton. It is only the difference of |

“a letter. And | give any English woman six months.
2 All are exactly alike.

OR

And amidst the little population of that now isolated
~and forgotten valley the disease ran its course.
 The old became groping, the young saw but dimly,
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You may as well use question with the wolf

Why -He hath made the ewe bléat for the lamb.

You may as well fdrbid the mountain pines

To wag their high tops and to maké no noiée

When they ére fretten with the gusts of heaven.
I OR

Yes, tb smell pork; to eat of the hlabitation which

YO_Uf prophet the Nazarite conj.-ured the devil into.

|

| will buy With' you, sell;With you, talk with you, walk
with- you and so following, but | will not eat with

| )?ou, drink w'ith you, nor préy' with on.

| -;}/Ansv\}er the followi'ng qUestions e '[20%x3=60]
, (a ) i erteacntlcal summary of the ¢ poem "Ode to the
Tho West Wmd" bnnglng out |tstheme
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not tempted to hurry over any part of it. All his w:::rk being
finished in good time, he has a long interval of rest in the
evening before the timely hour when he goes to bed. He
gets to sleep several hours before midnight, at the time
when sleep is most refreshing and after a sound night's
rest, rises early next morning in good health and splnts

e ———

for the labours of a new day.

It is very plain that such a life as this is far more
conducive to health than that of the man who shortens
his waking hours by risinQ late, and so can afford in the
course of the dey little leisure for necessary rest. Any
one -who Iiee in bed Iie_te, must, if he wishes to do a full
day's work, ge onw:)ft(ing to a correspondingly late hours

and deny_ hims’elf the hour or two of evening_e_xercise

e =

= sp:te of his efforts, (he wnl,l _probably_ produce as geod
“ results as the ear'ly riser, because he misses the best

workmg hours of the day. )
it may be objected to thls that some find the petfect

qulet of mldnlght by far the best tlme f_or workmg Thrs s

v e 1 M
.
" f i s -_-..t' B
g o M A e oy i - : 1 ;
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they can write best, when they burn the midnight oil. But
even in such cases the practice of working late at night

~ can not be commended. Few men, if any, can exert the
full power of their inte]léct at the time when nature
prescribes sleep, without running their health thereby; and
of course the injury done to the health must in the -Icmg

run have a bad effect on the quality of the work done.

--.......x_.._-_- ; )
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